X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
1 NS: E=¢tHE 5REHKGHO) -34 8 NS: BEi5 MEB(BAC) -29 VP:| 8.50 11.50 | Total VP: 87.28 Rank:
EW: $8{—5¢ MEEEEIC) 29 EW: BiSE Z=2518(FH0) 34 IMP:| 20 24 3
—
#1 a4 6SE7 -1010 Mean: 6SW-1 50 140 1 ||#2 a K 5DXN-4 -1100 Mean: 4DE-5 250 120 1
v 65 6SW7 -1010 -880  4SW6 480 9.0 1 o JT 4HE5 -450 -400  4HE-1 50 100 1
¢ T942 Dif: 0 NS:-4 6SW6 980 -3.0 4 + KQT8632 Dif: -650 NS:-12 3HW-1 50 100 1
a J98742 IMP: 0 EW:4 6SE6 980 3.0 1 » Q98 IMP: -12 EW:2 3HE3 140 6.0 1
& AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4  -1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 -150 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN4 130 Mean: 3SXW-3 800 12.0 1
v J74 3HW4 -170 -170  1NE2 120 20 1 v J2 3CN3 110 190 3NS5 660 10.0 1
» K942 Dif: 20 NS:1  1NE3 150 1.0 7 + A8 Dif: 20 NS:-2 3CN5 150 1.0 1
» 842 IMP: 1 EW:0 3HWA4 470 0.0 1 » AT953 IMP: 1 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 & Q 2CN4 130 -20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AK8 2HE2 -110 Mean: 1NS2 120 50 1 |[|#6 » J73 5HE5 -650 Mean: 6HXE-2 500 13.0 1
v T84 3CS-1-100 -50 3CS3 110 40 2 v AK4 4SW4 -620 -270  6SW-3 300 11.0 1
¢ 6432 Dif: -10 NS:-2 2NE-2 100 40 1 * T7 Dif: -30 NS:-9 4SW-1 100 90 3
 T54 IMP: 0 EW:2 3HE-1 50 30 1 » JT653 IMP: -1 EW:8 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W~~12~ W~~23~
#7 » 82 2HXN-1 -200 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW4 -430 Mean: 5DW-2 100 70 1
v 86542 2DXN-2 -500 -80  3CW-1 100 50 1 v 97 5DW-2 100 -190  3NW-1 50 60 2
+ AK874 Dif: 300 NS:-3 3CE-1 100 50 2 ¢ 65 Dif: -530 NS:-6 3NE-1 50 60 1
a3 IMP: 7 EW:9 2CE-1 100 50 1 # 987543 IMP: -11 EW:-7 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN4 420 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 650 Mean: 5SXN5 850 6.0 1
v KJ 2HS-3-150 400  4SN5 450 20 8 v6 4SN5 650 590  5SS5 650 20 1
+ K6 Dif: 570 NS:1 4SN4 420 10 4 ¢ 9864 Dif: 0 NS:2 4SN5 650 2.0 10
» 765 IMP: 11 EW:11 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




St - - 2
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
2 NS: =A% HEEEHO) 8 10 NS: K E# REF(BAC) -6| VP:| 13.14 : 6.86 | Total VP: 69.79 Rank:
EW: £Z25 % Mg B(EAC) 6 EW: ¥ 518 Z=ER(B0) -8 IMP:| 29 20 7
#1 a4 6SW6 -980 Mean: 6SW-1 50 140 1 ||#2 a K 4SXS-3 -800 Mean: 4DE-5 250 120 1
v 65 6SW7 -1010 -880 4SW6 480 9.0 1 v JT 4HE5 -450 -400  4HE-1 50 100 1
¢ T942 Dif: 30 NS:-3 6SW6 980 30 4 + KQT8632 Dif: -350 NS:-9 3HW-1 50 100 1
& J98742 IMP: 1 EW:4 6SE6 980 30 1 » Q98 IMP: -8 EW:2 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ 49
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE4 -180 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN4 130 Mean: 3SXW-3 800 12.0 1
v J74 1NE4 -180 -170  1NE2 120 20 1 v J2 3SXW-3 800 190 3NS5 660 100 1
+ K942 Dif: 0 NS:0 1NE3 4150 1.0 7 + A8 Dif: -670 NS:-2 3CN5 150 1.0 1
» 842 IMP: 0 EW:0 3HW4 470 00 1 » AT953 IMP: -12 EW:-12 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~gA N 53 ~~3 ¢ AT3
S ~~~~~ 4 A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ & K874
W ~~4~3 W ~~~~~
#5 » AKS 2HE2 -110 Mean: 1NS2 120 50 1 |[|#6 » J73 4SW-1100 Mean: 6HXE-2 500 13.0 1
v T84 4CS-1-100 -50  3CS3 110 40 2 v AK4 4SW4 -620 -270  6SW-3 300 110 1
¢ 6432 Dif: -10 NS:-2 2NE-2 100 40 1 ¢ T7 Dif: 720 NS:9  4SW-1 100 9.0 3
» T54 IMP: 0 EW:2 3HE-1 50 30 1 » JT653 IMP: 12 EW:8 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 2CE-1100 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW-1 50 Mean: 5DW-2 100 70 1
v 86542 2NE2 -120 -80  3CW-1 100 50 1 v 97 3NW3 -400 -190  3NW-1 50 60 2
+ AK874 Dif: 220 NS:5 3CE-1 100 50 2 ¢ 65 Dif: 450 NS:6 3NE-1 50 60 1
a3 IMP: 6 EW:1 2CE-1 100 50 1 » 987543 IMP: 10 EW:5 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 450 400  4SN5 450 20 8 v6 4SN5 650 590  5SS5 650 20 1
+ K6 Dif: 0 NS:2 4SN4 420 10 4 + 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: 0 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®eveN L J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
3 NS: E42# B GH0) 26 9 NS: E#32 BBF#(BAC) 0 VP:[ 1716 : 2.84 | Total VP: 91.20 Rank:
EW: 8218 ZEBEEIC) 0 EW: 2177 SR#9(BH0) -2 IMP:| 53 27 2
-
#1 a4 6SW-150 Mean: 6SW-1 50 140 1 ||#2 a K 4HES5 -450 Mean: 4DE-5 250 120 1
v 65 6SE6 -980 -880 4SW6 480 9.0 1 o JT 3HE5 -200 -400  4HE-1 50 100 1
¢ T942 Dif: 1030 NS:14 6SW6 980 30 4 + KQT8632 Dif: -250 NS:-2 3HW-1 50 100 1
& J98742 IMP: 14 EW:3 6SE6 980 30 1 » Q98 IMP: -6 EW:-5 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE2 -120 Mean: 4HE-1 100 7.0 1||#4 » KT92 3NS5 660 Mean: 3SXW-3 800 12.0 1
v J74 4HE4 -620 -170  1NE2 120 20 1 v J2 3CN4 130 190 3NS5 660 100 1
+ K942 Dif: 500 NS:2 1NE3 4150 1.0 7 + A8 Dif: 530 NS:10 3CN5 150 1.0 1
» 842 IMP: 11 EW:10 3HW4 470 00 1 » AT953 IMP: 11 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 & Q 2CN4 130 -20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AKS 2HE3 -140 Mean: 1NS2 120 50 1 |[|#6 » J73 5HE5 -650 Mean: 6HXE-2 500 13.0 1
v T84 3HE-150 -50 3CS3 110 40 2 v AK4 6SW-3 300 -270 6SW-3 300 110 1
¢ 6432 Dif: -190 NS:-3 2NE-2 100 40 1 * T7 Dif: -950 NS:-9 4SW-1 100 9.0 3
» T54 IMP: -5 EW:-3 3HE-1 50 30 1 » JT653 IMP: -14 EW:-11 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 3CE-1100 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW-1 50 Mean: 5DW-2 100 70 1
v 86542 1NN-2 -200 -80  3CW-1 100 50 1 v 97 3NW3 -400 -190  3NW-1 50 60 2
+ AK874 Dif: 300 NS:5 3CE-1 100 50 2 ¢ 65 Dif: 450 NS:6 3NE-1 50 60 1
a3 IMP: 7 EW:3 2CE-1 100 50 1 # 987543 IMP: 10 EW:5 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN4 420 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 650 Mean: 5SXN5 850 6.0 1
v KJ 4SN6 480 400  4SN5 450 20 8 v6 4SN5 650 590  5SS5 650 20 1
+ K6 Dif: -60 NS:1 4SN4 420 10 4 ¢ 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: -2 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




St - - 2
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
4 NS: a5 Z5#EEH0) 49 11 NS: FHIEZE FiEsE5)(BIg VP:| 16.97 : 3.03 | Total VP: 53.03 Rank:
EW: PhER #RrEEIC) -18 EW: RHET SHET(F( IMP:| 30 5 12
—
#1 a4 4SW6 -480 Mean: 6SW-1 50 140 1 ||#2 a K 3HE3 -140 Mean: 4DE-5 250 120 1
v 65 6SE7 -1010 -880  4SW6 480 9.0 1 v JT 4HE5 -450 -400  4HE-1 50 100 1
¢ T942 Dif: 530 NS:9 6SW6 980 30 4 + KQT8632 Dif: 310 NS:6 3HW-1 50 100 1
& J98742 IMP: 11 EW:4 6SE6 980 30 1 » Q98 IMP: 7 EW:2 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ 49
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE-1 100 Mean: 4HE-1 100 7.0 1||#4 » KT92 4CN4 130 Mean: 3SXW-3 800 12.0 1
v J74 1NE3 -150 -170  1NE2 120 20 1 v J2 3CS4130 190 3NS5 660 100 1
+ K942 Dif: 250 NS:7 1NE3 4150 1.0 7 + A8 Dif: 0 NS:-2 3CN5 150 1.0 1
» 842 IMP: 6 EW:-1 3HWA4 470 00 1 » AT953 IMP: 0 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~gA N 53 ~~3 ¢ AT3
S ~~~~~ 4 A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ & K874
W ~~4~3 W ~~~~~
#5 » AKS 1NS2 120 Mean: 1NS2 120 50 1 |[|#6 » J73 3HE-1100 Mean: 6HXE-2 500 13.0 1
v T84 3CS3110 -50 3CS3 110 40 2 v AK4 4SW-1100 -270 6SW-3 300 110 1
¢ 6432 Dif: 10 NS:5 2NE-2 100 40 1 * T7 Dif: 0 NS:9 4SW-1 100 9.0 3
» T54 IMP: 0 EW:-4 3HE-1 50 30 1 » JT653 IMP: 0 EW:-9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 3CE-1100 Mean: 2CE-2 200 7.0 1||#8 » K53 3DE-150 Mean: 5DW-2 100 70 1
v 86542 2SW2 -110 -80  3CW-1 100 50 1 v 97 3NE-150 -190  3NW-1 50 60 2
+ AK874 Dif: 210 NS:5 3CE-1 100 50 2 ¢ 65 Dif: 0 NS:6 3NE-1 50 60 1
a3 IMP: 5 EW:1 2CE-1 100 50 1 987543 IMP: 0 EW:-6 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 650 Mean: 5SXN5 850 6.0 1
v KJ 4SN4 420 400  4SN5 450 20 8 v6 5SXN5 850 590 5SS5 650 20 1
+ K6 Dif: 30 NS:2 4SN4 420 10 4 + 9864 Dif: 200 NS:2 4SN5 650 2.0 10
& 765 IMP: 1 EW:-1 2HS-3 150 -11.0 1 » 853 IMP: -5 EW:-6 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®eveN L J543
N 3~~55 ¢53 N 4~~5~ ¢Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~~




St - - 2
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
5 NS: B 5 8 #G(GH0) 15 1 3 NS: ZRE{E BRERT(BAC) 22 VP:| 7.17 12.83| Total VP: 67.55 Rank:
EW: FEMEFT BESF B(BAC) -22 EW: 215158 EEHAY(FFO) -1 IMP:| 12 20 8
.
#1 a4 6SW6 -980 Mean: 6SW-1 50 140 1 ||#2 a K 4DE-5 250 Mean: 4DE-5 250 120 1
v 65 6SW6 -980 -880  4SW6 480 9.0 1 o JT 3HW-150 -400 4HE-1 50 100 1
¢ T942 Dif: 0 NS:-3 6SW6 980 30 4 + KQT8632 Dif: 200 NS:12  3HW-1 50 100 1
a J98742 IMP: 0 EW:3 6SE6 980 30 1 » Q98 IMP: 5 EW:-10 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®*eveN J2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 -150 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN3 110 Mean: 3SXW-3 800 12.0 1
v J74 1NE3 -150 -170  1NE2 120 20 1 v J2 3CN5150 190 3NS5 660 100 1
+ K942 Dif: 0 Ns:1 1NE3 4150 1.0 7 + A8 Dif: -40 NS:-2 3CN5 150 1.0 1
» 842 IMP: 0 EW:-1 3HWA4 470 00 1 » AT953 IMP: -1 EW:1 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~ oA N 53 ~~3 ¢ AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ & K874
W ~~4~3 W ~~~~~
#5 » AKS 4CS-1-100 Mean: 1NS2 120 50 1 |[|#6 » J73 4SW-1100 Mean: 6HXE-2 500 13.0 1
v T84 2NE-2100 -50 3CS3 110 40 2 v AK4 6HXE-2 500 -270 6SW-3 300 110 1
¢ 6432 Dif: 200 NS:-2 2NE-2 100 40 1 * T7 Dif: -400 NS:9 4SW-1 100 9.0 3
» T54 IMP: -5 EW:-4 3HE-1 50 30 1 » JT653 IMP: -9 EW:-13 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W~~12~ W~~23~
#7 » 82 2CS-3 -300 Mean: 2CE-2 200 7.0 1||#8 » K53 2DE4 -130 Mean: 5DW-2 100 70 1
v 86542 2HN-1-100 -80  3CW-1 100 50 1 v 97 3NE3 -400 -190  3NW-1 50 60 2
+ AK874 Dif: 200 NS:-6 3CE-1 100 50 2 ¢ 65 Dif: 270 NS:2 3NE-1 50 60 1
a3 IMP: -5 EW:1 2CE-1 100 50 1 # 987543 IMP: 7 EW:5 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 450 400  4SN5 450 20 8 v6 4SN5 650 590  5SS5 650 20 1
+ K6 Dif: 0 NS:2 4SN4 420 10 4 ¢ 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: 0 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




St - - 2
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
6 NS: #9881 BEEEZ(FHO) -27 1 2 NS: REF BER(BIC) -13 VP:| 6.57 13.43| Total VP: 78.60 Rank:
EW: £ % BiFREEAC) 13 EW: 5% 21235 (550) 27 IMP:| 16 26 4
—
#1 a4 6SE7 -1010 Mean: 6SW-1 50 140 1 ||#2 a K 5DXN-4 -1100 Mean: 4DE-5 250 120 1
v 65 6SE7 -1010 -880  4SW6 480 9.0 1 o JT 4HE-150 -400 4HE-1 50 100 1
¢ T942 Dif: 0 NS:-4 6SW6 980 -3.0 4 + KQT8632 Dif: -1150 NS:-12 3HW-1 50 100 1
a J98742 IMP: 0 EW:4 6SE6 980 3.0 1 » Q98 IMP: -15 EW:-10 3HE3 140 6.0 1
& AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4  -1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 -150 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN4 130 Mean: 3SXW-3 800 12.0 1
v J74 1NE3 -150 -170  1NE2 120 20 1 v J2 3CS4130 190 3NS5 660 10.0 1
» K942 Dif: 0 Ns:1 1NE3 150 1.0 7 + A8 Dif: 0 NS:-2 3CN5 150 1.0 1
» 842 IMP: 0 EW:-1 3HWA4 470 0.0 1 » AT953 IMP: 0 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 & Q 2CN4 130 -20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~ oA N 53 ~~3 ¢ AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ & K874
W ~~4~3 W ~~~~~
#5 » AK8 3NN-3 -300 Mean: 1NS2 120 50 1 |[|#6 » J73 4SW4 -620 Mean: 6HXE-2 500 13.0 1
v T84 3HE3 -140 -50 3CS3 110 40 2 v AK4 4HE5 -650 -270  6SW-3 300 11.0 1
¢ 6432 Dif: -160 NS:-6 2NE-2 100 40 1 * T7 Dif: 30 NS:-8 4SW-1 100 90 3
 T54 IMP: -4 EW:3 3HE-1 50 30 1 » JT653 IMP: 1 EW:9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W~~12~ W~~23~
#7 » 82 3CW-1100 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW3 -400 Mean: 5DW-2 100 70 1
v 86542 2SW2 -110 -80  3CW-1 100 50 1 v 97 3DE4 -130 -190  3NW-1 50 60 2
+ AK874 Dif: 210 NS:5 3CE-1 100 50 2 ¢ 65 Dif: -270 NS:-5 3NE-1 50 60 1
a3 IMP: 5 EW:1 2CE-1 100 50 1 # 987543 IMP: -7 EW:-2 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 450 400  4SN5 450 20 8 v6 3SN5200 590 5SS5 650 20 1
+ K6 Dif: 0 NS:2 4SN4 420 10 4 ¢ 9864 Dif: 450 NS:2 4SN5 650 2.0 10
& 765 IMP: 0 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 10 EW:9 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




St - - 2
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
7 NS: FiEgl £XEGHO) -12 14 NS: 15fREE BREEEN(BAC) -29 VP:| 14.54 : 5.46 | Total VP: 63.18 Rank:
EW: BiEHE =AEEIC) 29 EW: R{Z8B ERHE£(FIO) 12 IMP:| 24 10 9
— -
#1 a4 6SE7 -1010 Mean: 6SW-1 50 140 1 ||#2 a K 4HWS5 -450 Mean: 4DE-5 250 120 1
v 65 6SW6 -980 -880  4SW6 480 9.0 1 o JT 4HE4 -420 -400  4HE-1 50 100 1
¢ T942 Dif: -30 NS:-4 6SW6 980 30 4 + KQT8632 Dif: -30 NS:-2 3HW-1 50 100 1
& J98742 IMP: -1 EW:3 6SE6 980 30 1 » Q98 IMP: -1 EW:1 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE4 -180 Mean: 4HE-1 100 7.0 1||#4 » KT92 4DS-1-100 Mean: 3SXW-3 800 120 1
v J74 1NE3 -150 -170  1NE2 120 20 1 v J2 2CN4 130 190 3NS5 660 100 1
+ K942 Dif: -30 NS:0 1NE3 4150 1.0 7 + A8 Dif: -230 NS:-7  3CN5 150 1.0 1
» 842 IMP: -1 EW:-1 3HWA4 470 00 1 » AT953 IMP: -6 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AKS 3CS3 110 Mean: 1NS2 120 50 1 |[|#6 » J73 4HE4 -620 Mean: 6HXE-2 500 13.0 1
v T84 2SE2 -110 -50  3CS3 110 40 2 v AK4 4SW4 -620 -270  6SW-3 300 110 1
¢ 6432 Dif: 220 NS:4 2NE-2 100 40 1 * T7 Dif: 0 NS:-8 4SW-1 100 90 3
» T54 IMP: 6 EW:2 3HE-1 50 30 1 » JT653 IMP: 0 EW:8 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 2CE-2200 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW3 -400 Mean: 5DW-2 100 70 1
v 86542 2SW2 -110 -80  3CW-1 100 50 1 v 97 3NW3 -400 -190  3NW-1 50 60 2
+ AK874 Dif: 310 NS:7 3CE-1 100 50 2 ¢ 65 Dif: 0 NS:-5 3NE-1 50 60 1
a3 IMP: 7 EW:1 2CE-1 100 50 1 # 987543 IMP: 0 EW:5 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN4 420 Mean: 4SN6 480 20 1 [|#10 » AKQT7 5885 650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 450 400  4SN5 450 20 8 v6 4HW-1100 590 5SS5 650 20 1
+ K6 Dif: -30 NS:1  4SN4 420 10 4 ¢ 9864 Dif: 550 NS:2 4SN5 650 2.0 10
& 765 IMP: -1 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 11 EW:10 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
8 NS: #B25F MELEIC) 29 1 NS: E}kiE RBRH(BIO) -34{ VP:| 11.50 : 8.50 | Total VP: 62.79 Rank:
EW: MiEE E=245EEH0) 34 EW: $E{_# MEFR(BAC) 2 IMP:| 24 20 10
I —
#1 a4 6SE7 1010 Mean: 6SW-1 50 140 1 ||#2 a K 5DXN-4 1100 Mean: 4DE-5 250 120 1
v 65 6SW7 1010 -880 4SW6 480 9.0 1 o JT 4HE5 450 -400  4HE-1 50 100 1
¢ T942 Dif: 0 NS:-4 6SW6 980 30 4 + KQT8632 Dif: 650 NS:-2 3HW-1 50 100 1
a J98742 IMP: 0 EW:4 6SE6 980 30 1 » Q98 IMP: 12 EW:12 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®*eveN J2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 150 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN4 -130 Mean: 3SXW-3 800 120 1
v J74 3HW4 170 -170  1NE2 120 20 1 v J2 3CN3 -110 190 3NS5 660 100 1
+ K942 Dif: 20 NS:0 1NE3 4150 1.0 7 + A8 Dif: 20 NS:-2 3CN5 150 1.0 1
» 842 IMP: -1 EW:-1 3HWA4 470 00 1 » AT953 IMP: -1 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AKS 2HE2 110 Mean: 1NS2 120 50 1 |[|#6 » J73 5HE5 650 Mean: 6HXE-2 500 13.0 1
v T84 3CS-1100 -50 3CS3 110 40 2 v AK4 4SW4 620 -270 6SW-3 300 110 1
¢ 6432 Dif: 10 NS:-2 2NE-2 100 40 1 * T7 Dif: 30 NS:-8 4SW-1 100 9.0 3
» T54 IMP: 0 EW:2 3HE-1 50 30 1 » JT653 IMP: 1 EW:9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 2HXN-1 200 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW4 430 Mean: 5DW-2 100 70 1
v 86542 2DXN-2 500 -80  3CW-1 100 50 1 v 97 5DW-2 -100 -190  3NW-1 50 60 2
+ AK874 Dif: -300 NS:-9 3CE-1 100 50 2 ¢ 65 Dif: 530 NS:7 3NE-1 50 60 1
a3 IMP: -7 EW:3 2CE-1 100 50 1 # 987543 IMP: 11 EW:6 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN4 -420 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 -650 Mean: 5SXN5 850 6.0 1
v KJ 2HS-3150 400  4SN5 450 20 8 v6 4SN5 -650 590  5SS5 650 20 1
+ K6 Dif: -570 NS:-11 4SN4 420 10 4 ¢ 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: -11 EW:-1 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
9 NS: BRI BREHIEAC) 0 3 NS: 8% BRiEIE(BAO) 26| VP:| 2.84 17.16| Total VP: 61.82 Rank:
EW: 780 =5E$9(BF0) 26 EW: 81818 EBUR(BAC) 0 IMP:| 27 53 1
-
#1 a4 6SW-1-50 Mean: 6SW-1 50 140 1 ||#2 a K 4HE5 450 Mean: 4DE-5 250 120 1
v 65 6SE6 980 -880 4SW6 480 9.0 1 o JT 3HE5 200 -400  4HE-1 50 100 1
¢ T942 Dif: -1030 NS:-3 6SW6 980 30 4 + KQT8632 Dif: 250 NS:5 3HW-1 50 100 1
& J98742 IMP: -14 EW:-14 6SE6 980 30 1 » Q98 IMP: 6 EW:2 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE2 120 Mean: 4HE-1 100 7.0 1||#4 » KT92 3NS5 -660 Mean: 3SXW-3 800 12.0 1
v J74 4HE4 620 -170  1NE2 120 20 1 v J2 3CN4 -130 190 3NS5 660 100 1
+ K942 Dif: -500 NS:-10 1NE3 4150 1.0 7 + A8 Dif: -530 NS:-2 3CN5 150 1.0 1
» 842 IMP: -11 EW:-2 3HW4 470 00 1 » AT953 IMP: -11 EW:-10 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AKS 2HE3 140 Mean: 1NS2 120 50 1 |[|#6 » J73 5HE5 650 Mean: 6HXE-2 500 13.0 1
v T84 3HE-1-50 -50 3CS3 110 40 2 v AK4 6SW-3 -300 -270 6SW-3 300 110 1
¢ 6432 Dif: 190 NS:3 2NE-2 100 40 1 ¢ T7 Dif: 950 NS:11 4SW-1 100 9.0 3
» T54 IMP: 5 EW:3 3HE-1 50 30 1 » JT653 IMP: 14 EW:9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 3CE-1-100 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW-1-50 Mean: 5DW-2 100 70 1
v 86542 1NN-2200 -80  3CW-1 100 50 1 v 97 3NW3 400 -190  3NW-1 50 60 2
+ AK874 Dif: -300 NS:-3 3CE-1 100 50 2 ¢ 65 Dif: -450 NS:-5 3NE-1 50 60 1
a3 IMP: -7 EW:-5 2CE-1 100 50 1 # 987543 IMP: -10 EW:-6 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN4 -420 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 -650 Mean: 5SXN5 850 6.0 1
v KJ 4SN6 -480 400  4SN5 450 20 8 v6 4SN5 -650 590  5SS5 650 20 1
+ K6 Dif: 60 NS:2 4SN4 420 10 4 ¢ 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: 2 EW:-1 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
1 O NS: ZABHE 5REAEAC) -6 2 NS: SOME X REEFEO) VP:| 6.86 13.14| Total VP: 42.45 Rank:
EW: & & £EZEBEI0) -8 EW: Z5iH M8 (BAC) 6 IMP:| 20 29 14
#1 a4 6SW6 980 Mean: 6SW-1 50 140 1 ||#2 a K 4SXS-3 800 Mean: 4DE-5 250 120 1
v 65 6SW7 1010 -880  4SW6 480 9.0 1 v JT 4HE5 450 -400  4HE-1 50 100 1
¢ T942 Dif: -30 NS:-4 6SW6 980 30 4 + KQT8632 Dif: 350 NS:-2 3HW-1 50 100 1
& J98742 IMP: -1 EW:3 6SE6 980 30 1 » Q98 IMP: 8 EW:9 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ 49
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE4 180 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN4 -130 Mean: 3SXW-3 800 120 1
v J74 1NE4 180 -170  1NE2 120 20 1 v J2 3SXW-3 -800 190 3NS5 660 100 1
+ K942 Dif: 0 NS:0 1NE3 4150 1.0 7 + A8 Dif: 670 NS:12 3CN5 150 1.0 1
» 842 IMP: 0 EW:0 3HW4 470 00 1 » AT953 IMP: 12 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 & Q 2CN4 130 -20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~ oA N 53 ~~3 ¢ AT3
S ~~~~~ 4 A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ93 E ~~~~~ & K874
W ~~4~3 W ~~~~~
#5 & AK8 2HE2 110 Mean: 1NS2 120 50 1 ||#6 a J73 4SW-1 -100 Mean: 6HXE-2 500 13.0 1
v T84 4CS-1100 -50 3CS3 110 40 2 v AK4 4SW4 620 -270 6SW-3 300 110 1
¢ 6432 Dif: 10 NS:-2 2NE-2 100 40 1 * T7 Dif: -720 NS:-8 4SW-1 100 9.0 3
» T54 IMP: 0 EW:2 3HE-1 50 30 1 » JT653 IMP: -12 EW:-9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 2CE-1-100 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW-1-50 Mean: 5DW-2 100 70 1
v 86542 2NE2120 -80  3CW-1 100 50 1 v 97 3NW3 400 -190  3NW-1 50 60 2
+ AK874 Dif: -220 NS:-1  3CE-1 100 50 2 ¢ 65 Dif: -450 NS:-5 3NE-1 50 60 1
a3 IMP: -6 EW:-5 2CE-1 100 50 1 # 987543 IMP: -10 EW:-6 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ NE2 120 -0 1 ||v J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 -450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 -650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 -450 400  4SN5 450 20 8 v6 4SN5 -650 590  5SS5 650 20 1
+ K6 Dif: 0 NS:2 4SN4 420 10 4 + 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: 0 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
1 1 NS: SEHEZ FEESEEIEC) 4 NS: {4 Z5%{2(510) 49 VP:| 3.03 : 16.97| Total VP: 52.53 Rank:
EW: RIHET SHETEI0) EW: &I 818:E(FAC) 1 IMP:| 5 : 30 13
-
#1 a4 4SW6 480 Mean: 6SW-1 50 140 1 ||#2 a K 3HE3 140 Mean: 4DE-5 250 120 1
v 65 6SE7 1010 -880  4SW6 480 9.0 1 v JT 4HE5 450 -400  4HE-1 50 100 1
¢ T942 Dif: -530 NS:-4 6SW6 980 30 4 + KQT8632 Dif: -310 NS:-2 3HW-1 50 100 1
& J98742 IMP: -11 EW:-9 6SE6 980 30 1 » Q98 IMP: -7 EW:-6 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ 49
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 4HE-1 -100 Mean: 4HE-1 100 7.0 1||#4 » KT92 4CN4 -130 Mean: 3SXW-3 800 12.0 1
v J74 1NE3 150 -170 1NE2 120 20 1 v J2 3CS4-130 190 3NS5 660 100 1
+ K942 Dif: -250 NS:1  1NE3 4150 1.0 7 + A8 Dif: 0 NS:-2 3CN5 150 1.0 1
» 842 IMP: -6 EW:-7 3HWA4 470 00 1 » AT953 IMP: 0 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3Cs4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 & Q 2CN4 130 -20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~ oA N 53 ~~3 ¢ AT3
S ~~~~~ 4 A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ93 E ~~~~~ & K874
W ~~4~3 W ~~~~~
#5 #» AK8 1NS2 -120 Mean: 1NS2 120 50 1 ||#6 a J73 3HE-1-100 Mean: 6HXE-2 500 13.0 1
v T84 3CS3-110 -50  3CS3 110 40 2 v AK4 4SW-1-100 -270 6SW-3 300 110 1
¢ 6432 Dif: -10 NS:4 2NE-2 100 40 1 ¢ T7 Dif: 0 NS:9 4SW-1 100 9.0 3
» T54 IMP: 0 EW:-5 3HE-1 50 30 1 » JT653 IMP: 0 EW:-9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 + J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HES5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 3CE-1-100 Mean: 2CE-2 200 7.0 1||#8 » K53 3DE-1-50 Mean: 5DW-2 100 70 1
v 86542 2SW2 110 -80  3CW-1 100 50 1 v 97 3NE-1-50 -190  3NW-1 50 60 2
+ AK874 Dif: -210 NS:-1  3CE-1 100 50 2 ¢ 65 Dif: 0 NS:6 3NE-1 50 60 1
a3 IMP: -5 EW:-5 2CE-1 100 50 1 # 987543 IMP: 0 EW:-6 3DE-1 50 60 1
» KQT9 & A73 2SW2 4110 1.0 3 ||aT & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 ||v J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 -450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 -650 Mean: 5SXN5 850 6.0 1
v KJ 4SN4 -420 400  4SN5 450 20 8 v6 5SXN5 -850 590  5SS5 650 20 1
+ K6 Dif: -30 NS:1  4SN4 420 10 4 + 9864 Dif: 200 NS:6 4SN5 650 2.0 10
& 765 IMP: -1 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 5 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®eveN L J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
1 2 NS: REF FHEREAC) -13 6 NS: #2128l FE=F(BAO) -21 VP:| 13.43 : 6.57 | Total VP: 73.02 Rank:
EW: &5 T 2125 EH0) 27 EW: 82X #FFH(BAC) 13 IMP:| 26 16 5
I —
#1 a4 6SE7 1010 Mean: 6SW-1 50 140 1 ||#2 a K 5DXN-4 1100 Mean: 4DE-5 250 120 1
v 65 6SE7 1010 -880  4SW6 480 9.0 1 o JT 4HE-1-50 -400 4HE-1 50 100 1
¢ T942 Dif: 0 NS:-4 6SW6 980 30 4 + KQT8632 Dif: 1150 NS:10 3HW-1 50 100 1
a J98742 IMP: 0 EW:4 6SE6 980 30 1 » Q98 IMP: 15 EW:12 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®*eveN J2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 150 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN4 -130 Mean: 3SXW-3 800 120 1
v J74 1NE3 150 -170  1NE2 120 20 1 v J2 3CS4-130 190 3NS5 660 100 1
+ K942 Dif: 0 Ns:1 1NE3 4150 1.0 7 + A8 Dif: 0 NS:-2 3CN5 150 1.0 1
» 842 IMP: 0 EW:-1 3HWA4 470 00 1 » AT953 IMP: 0 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AKS 3NN-3 300 Mean: 1NS2 120 50 1 |[|#6 » J73 4SW4 620 Mean: 6HXE-2 500 13.0 1
v T84 3HE3140 -50 3CS3 110 40 2 v AK4 4HE5 650 -270 6SW-3 300 110 1
¢ 6432 Dif: 160 NS:-3 2NE-2 100 40 1 * T7 Dif: -30 NS:-9 4SW-1 100 9.0 3
» T54 IMP: 4 EW:6 3HE-1 50 30 1 » JT653 IMP: -1 EW:8 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 » 82 3CW-1-100 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW3 400 Mean: 5DW-2 100 70 1
v 86542 2SW2110 -80  3CW-1 100 50 1 v 97 3DE4 130 -190  3NW-1 50 60 2
+ AK874 Dif: 210 NS:-1  3CE-1 100 50 2 ¢ 65 Dif: 270 NS:2 3NE-1 50 60 1
a3 IMP: -5 EW:-5 2CE-1 100 50 1 # 987543 IMP: 7 EW:5 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 -450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 -650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 -450 400  4SN5 450 20 8 v6 3SN5-200 590  5SS5 650 20 1
+ K6 Dif: 0 NS:2 4SN4 420 10 4 ¢ 9864 Dif: -450 NS:-9 4SN5 650 2.0 10
& 765 IMP: 0 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: -10 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
1 3 NS: FiEEE BRERREAIC) 22 5 NS: [Ri2: B E/Z(BAO) 15 VP:| 12.83 : 7.17 | Total VP: 109.25 Rank:
EW: Sfas BEtH&uEH0) -15 EW: 3IIER] BRFR(FAC) -2 IMP:| 20 12 1
.
#1 a4 6SW6 980 Mean: 6SW-1 50 140 1 ||#2 a K 4DE-5 -250 Mean: 4DE-5 250 120 1
v 65 6SW6 980 -880  4SW6 480 9.0 1 o JT 3HW-1-50 -400  4HE-1 50 100 1
¢ T942 Dif: 0 NS:-3 6SW6 980 30 4 + KQT8632 Dif: 200 NS:10 3HW-1 50 100 1
a J98742 IMP: 0 EW:3 6SE6 980 30 1 » Q98 IMP: -5 EW:-12 3HE3 140 6.0 1
# AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4 1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE3 150 Mean: 4HE-1 100 7.0 1||#4 » KT92 3CN3 -110 Mean: 3SXW-3 800 120 1
v J74 1NE3 150 -170  1NE2 120 20 1 v J2 3CN5-150 190 3NS5 660 100 1
+ K942 Dif: 0 Ns:1 1NE3 4150 1.0 7 + A8 Dif: 40 NS:-1 3CN5 150 1.0 1
» 842 IMP: 0 EW:-1 3HWA4 470 00 1 » AT953 IMP: 1 EW:2 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 +Q 2CN4 130 20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AKS 4CS-1100 Mean: 1NS2 120 50 1 |[|#6 » J73 4SW-1 -100 Mean: 6HXE-2 500 13.0 1
v T84 2NE-2-100 -50 3CS3 110 40 2 v AK4 6HXE-2 -500 -270 6SW-3 300 110 1
¢ 6432 Dif: 200 NS:4 2NE-2 100 40 1 * T7 Dif: 400 NS:13  4SW-1 100 9.0 3
» T54 IMP: 5 EW:2 3HE-1 50 30 1 » JT653 IMP: 9 EW:-9 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W~~12~ W~~23~
#7 » 82 2CS-3300 Mean: 2CE-2 200 7.0 1||#8 » K53 2DE4 130 Mean: 5DW-2 100 70 1
v 86542 2HN-1100 -80  3CW-1 100 50 1 v 97 3NE3 400 -190  3NW-1 50 60 2
+ AK874 Dif: 200 NS:-1  3CE-1 100 50 2 ¢ 65 Dif: -270 NS:-5 3NE-1 50 60 1
a3 IMP: 5 EW:6 2CE-1 100 50 1 # 987543 IMP: -7 EW:-2 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN5 -450 Mean: 4SN6 480 20 1 [|#10 » AKQT7 4SN5 -650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 -450 400  4SN5 450 20 8 v6 4SN5 -650 590  5SS5 650 20 1
+ K6 Dif: 0 NS:2 4SN4 420 10 4 ¢ 9864 Dif: 0 NS:2 4SN5 650 2.0 10
& 765 IMP: 0 EW:-2 2HS-3 150 -11.0 1 » 853 IMP: 0 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




X AN 33z 4 R
7 1142 E< 3 2RABEHRE L2 == RT 7
L M L
Vo axq
#1: 13 7EfE(109.25) #2: 3 Oceans(91.2) #3: 1 B, (87.28)
1 4 NS: #BIXRE BREEEIEAC) -29 7 NS: ZRiEs] ZFikF(BO) -11 VP:| 5.46 14.54| Total VP: 70.38 Rank:
EW: 5R{EEH BRME2BHO) 12 EW: Bi5#E StaIE(EAC) 2 IMP:| 10 24 6
I -
#1 a4 6SE7 1010 Mean: 6SW-1 50 140 1 ||#2 a K 4HWS5 450 Mean: 4DE-5 250 120 1
v 65 6SW6 980 -880 4SW6 480 9.0 1 o JT 4HE4 420 -400  4HE-1 50 100 1
¢ T942 Dif: 30 NS:-3 6SW6 980 -3.0 4 + KQT8632 Dif: 30 NS:-1  3HW-1 50 100 1
a J98742 IMP: 1 EW:4 6SE6 980 3.0 1 » Q98 IMP: 1 EW:2 3HE3 140 6.0 1
& AKT98763 s Q5 6SW7 <1010 -40 2 || Ad2 » J73 3HE5 200 5.0 1
v K v J432 6SE7 <1010 -40 5 ||v K86 | v AQ9543 4HE4 420 1.0 1
+ K + AQJ6 * AJ * 75 4HW5 450 20 1
& Q65 & AK3 & KT763 & 42 4HE5 450 20 4
®IVON L2 ®**VeEN , QTI865 4SXS-3 -800 -9.0 1
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ @72 5DXN-4  -1100 -12.0 2
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 1NE4 180 Mean: 4HE-1 100 7.0 1||#4 » KT92 4DS-1100 Mean: 3SXW-3 800 120 1
v J74 1NE3 150 -170  1NE2 120 20 1 v J2 2CN4 -130 190 3NS5 660 10.0 1
+ K942 Dif: 30 NS:1 1NE3 150 1.0 7 + A8 Dif: 230 NS:-2 3CN5 150 1.0 1
» 842 IMP: 1 EW:0 3HWA4 470 0.0 1 » AT953 IMP: 6 EW:7 4CN4 130 20 1
a J72 4 AQ5 1NE4 180 00 3 ||a Q764 » AJ83 3CS4 130 20 2
v K865 v QT932 4HE4 620 -100 1 ||v Q98 + v K7654 3CN4 130 20 4
¢ T5 + QJ8 + K53 ¢ T94 3CN3 10 20 2
& KT76 & AQ & J62 & Q 2CN4 130 -20 1
PIVEN ,9643 POIVEN 45 4DS-1 4100 70 1
N ~~~~~¢A N 53~~3 ¢AT3
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762
E ~~4~3 aJ953 E ~~~~~ aK874
W~~4~3 W~~~~~
#5 » AK8 3CS3 -110 Mean: 1NS2 120 50 1 |[|#6 » J73 4HE4 620 Mean: 6HXE-2 500 13.0 1
v T84 2SE2 110 -50  3CS3 110 40 2 v AK4 4SW4 620 -270 6SW-3 300 11.0 1
¢ 6432 Dif: -220 NS:-2 2NE-2 100 40 1 * T7 Dif: 0 NS:-8 4SW-1 100 90 3
 T54 IMP: -6 EW:-4 3HE-1 50 30 1 » JT653 IMP: 0 EW:8 3HE-1 100 9.0 1
s JT763 # 952 4CS-1 100 20 2 ||a AKQ9652 'y 4SW4 620 -8.0 4
v AJ52 v K976 3CS-1 100 20 1 ||e T6 —_ v QJ98753 4HE4 620 -8.0 1
+ KQ8 ¢ T75 2SE2 110 20 1 ||e AK9 ¢ J65 5HE5 650 -9.0 2
&8 & KJ6 2HE2 410 20 2 ||a & K84 4HE5 650 -9.0 1
POVEN L4 3HE3 140 30 1 PIVEN LT84
N 32~~3 ¢Q3 2HE3 140 30 1||N 1 ~~~~ 2
S 32~~3 ¢AJ9 3NN-3 300 60 1 [[S 1 ~~~~ o Q8432
E ~~22~ &AQ9732 E ~~23~ a&AQ97
W~~12~ W~~23~
#7 » 82 2CE-2 -200 Mean: 2CE-2 200 7.0 1||#8 » K53 3NW3 400 Mean: 5DW-2 100 70 1
v 86542 2SW2110 -80  3CW-1 100 50 1 v 97 3NW3 400 -190  3NW-1 50 60 2
+ AK874 Dif: -310 NS:-1  3CE-1 100 50 2 ¢ 65 Dif: 0 NS:-5 3NE-1 50 60 1
a3 IMP: -7 EW:-7 2CE-1 100 50 1 # 987543 IMP: 0 EW:5 3DE-1 50 60 1
» KQT9 s A73 2SW2 110 1.0 3 ||a T & AJ642 3DE4 130 20 1
v 973 + v AQJ 2NE2 4120 1.0 1 || J863 v K42 2DE4 130 20 1
+ T9632 *J 2HN-1 100 1.0 1 ||e K972 * QT4 3NW3 400 50 5
aJ S & AT9652 2HXN-1 200 -3.0 1 ||& AKT2 *Q 3NE3 400 50 1
PIVEeN ,J654 1NN-2 200 3.0 1 PEVEN 4, Q987 3NW4 430 60 1
N ~~~~~ KT 2Cs-3 300 60 1[N 1 ~~~~ ¢ AQT5
S ~~~~~ 4Q5 2DXN-2 500 9.0 1[]|S 1 ~~~~ ¢ A83
E 2~~ 32 &KQ874 E ~42~3 aJb6
W 2~~22 W ~32-~3
#9 » AKT742 4SN4 -420 Mean: 4SN6 480 20 1 [|#10 » AKQT7 58S5 -650 Mean: 5SXN5 850 6.0 1
v KJ 4SN5 -450 400  4SN5 450 20 8 v6 4HW-1-100 590 5SS5 650 20 1
+ K6 Dif: 30 NS:2 4SN4 420 10 4 ¢ 9864 Dif: -550 NS:-10 4SN5 650 2.0 10
& 765 IMP: 1 EW:-1 2HS-3 150 -11.0 1 » 853 IMP: -11 EW:-2 3SN5 200 9.0 1
J5 » Q9 # 962 a8 4HW-1 100 100 1
v T9742 v AQ86 v J7432 + v AKT9
¢ JT2 ¢ 8754 ¢ JT2 + AKQ73
& Q84 & KJ3 & T4 & Q96
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ &AT92 E ~23~~ & AKJ72
W ~~~~~ W ~23~-~




